Name: Maksim Ivanenko
IT415 Final

Question 1:  You are hired as an IT assistant manager for CoconutMonkey, Inc.  The CoconutMonkey is the number one distributor of coconuts and other farm products, which has 70% of market share in the U.S.A.  Your current system is a combination of AS400 and NT4 multiple-domain architecture.  Your clients operation systems include WIN98, WIN NT4 Workstation, WIN 2000 Professional and WIN XP.  Your first assignment is to design a brand new networking model and make the upgrade proposal to the executive board members.

The organization structure is as follows:

Geographical locations:

Los Angles, CA: Headquarter and warehouse w/160 employees

Dallas, TX:  South regional sales office w/120 employees

New York, NY:  East regional sales office w/140 employees

Ames, IA: Research and development Center w/50 employees

Chicago, IL: North regional sales office w/125 employees

Orlando, FL: Southwest regional sales office w/180 employees

St. Louis, MO:  Central regional sales office w/120 employees

Each office has the following organizational structure:

Regional Vice President or Center Director

Finance and Accounting

Sales or related departments for their office functions

You should design should include the following outline in one typed page:

a. The advantage of upgrading to WIN2000? (Why?) (20%)

Most important advantages of W2K are:

· Reliability; W2K OS is more improved in its reliability then NT, but still lacks stability of Unix/Linux systems.

· Availability; W2K is much easier to maintain then previous NT system. After changing parameters of W2K most of the time system needs to reboot. However, Microsoft claims to decrease need for reboot compare to NT. One of the disadvantages over Unix/Linux system is that W2K and NT tends to accumulate lots of memory space, which may cause a crush or overheat CPU’s.

· Scalability; Possibility to expand a range of functionality from small to larger size of computers. Performance improved by ability to use larger number of CPU’s, larger memory size, unlimited number of possible objects. For better manageability of large enterprises, MS introduced Public Key Infrastructure –based security for more secure and better controlled then userid+passport setup.

· Modernization; to support new type of hardware and constant development in computer technology W2K supports Plug and Play system.

· Operational Cost; W2K is easier to support compare to NT. New improvements include Centralized Remote Upgrade, Change and Configuration Management tools, Telnet, better disk quota control and overall lower Total Cost of Ownership.

b. Your proposed physical WAN connection. (What and Why?) (10%)

Since CoconutMonkey is the largest US distributor of farm products, possessing 70% of market (almost monopolizing industry) it most likely will need more bandwidth then regular business. I recommend customizing access to WAN according to each branches need:

Regional Sales branches will require most capacity – T3 line;

Research and Development Department probably would not need so much bandwidth- T1 line;

Headquarters and warehouse will need largest capacity, since it would have to gather and distribute data from all corporate cites plus handle customer support and public relations- T3 line.

In order to provide uninterrupted services I would also recommend having adequate backup connection line at each cite routing to ISP.

c. Your TCP/IP infrastructure using DNS, DHCP, & WINS.  (What and how they work?) (20%)

Active directory is an open-ended database that stores information about who is on your network and what they’re allowed to do. But before implementing AS, we need to have Domain Name Server infrastructure in place. DNS main value is to assist Internet-oriented programs like Web browsers, FTP clients and POP3/SMTP mail clients in finding their corresponding servers. W2K provides easy to follow wizards to work with and update new information about participating machines. Dynamic Host Control Protocol server at first needs to be authorized in the Active Directory in order to avoid confusion that may result in having multiple DHCP servers assigning computers its own unique IP addresses. Each workstation or server on the network must know to register itself with DNS server. DHCP automatically leases IP addresses to requesting machines on the network. DNS provides name resolution for host names to IP addresses. WINS provide non-routable name resolution for hosts to IP addresses. Domain Control, DHCP and DNS servers must be implemented in each geographical department for more efficient network use. Active directory structure will synchronize updates and will enable recovery from down time experienced by certain systems server.

Overall integration into network process includes:

Host logon to Domain Controller

Host obtains IP address from DHCP server

Host registers with DNS/WINS to resolve resolution of names to addresses.

d. What is the role of WINS in your designed system? (Why?) (10%)

WINS could be used inside each departments LAN for faster networking within this department.

Another use- as support for legacy systems remained in the companies network.

e. A complete name space design. (What?) (10%)

See attached Visio diagram named Final_IT415.vsd

It structured on geographical basis and expands to reflect business functionality on lower organizational units.

Question 2:  You typed in TRACERT and received the following message: (10%)

C:\>tracert www.coconutmonkey.com

Tracing route to www.coconutmonky.net [64.58.76.176]

over a maximum of 30 hops:

  1   <10 ms   <10 ms   <10 ms  10.14.4.10

  2   <10 ms   <10 ms   <10 ms  10.14.20.1

  3   <10 ms   <10 ms   <10 ms  207.21.77.1

  4   <10 ms    10 ms    10 ms  d1-8-0-1-27.a08.mtvwca01.us.ra.verio.net [140.174.169.217]

  5   <10 ms    10 ms    10 ms  ge-2-0.a05.mtvwca01.us.ra.verio.net [129.250.122.193]

  6   <10 ms    10 ms    10 ms  p4-0-0.a03.plalca01.us.ra.verio.net [129.250.122.69]

  7   <10 ms    10 ms    10 ms  p16-1-0-0.r06.plalca01.us.bb.verio.net [129.250.3.161]

  8   <10 ms    10 ms    10 ms  p16-3-0-0.r00.plalca01.us.bb.verio.net [129.250.2.162]

  9   <10 ms    10 ms    10 ms  bbr02-g6-0.sntc04.exodus.net [216.34.2.36]

 10    70 ms    10 ms    80 ms  bbr02-p1-0.stng02.exodus.net [209.185.9.114]

 11    80 ms    70 ms    80 ms  bbr02-p1-0.stng02.exodus.net [209.185.9.114]

 12    81 ms    80 ms    80 ms  bbr02-p5-0.stng01.exodus.net [209.185.9.1]

 13    80 ms    80 ms   111 ms  dcr03-g10-0.stng01.exodus.net [216.33.96.161]

 14    90 ms    80 ms    91 ms  csr21-ve240.stng01.exodus.net [216.33.98.2]

 15    80 ms    80 ms    81 ms  www7.coconutmonkey.com [64.58.76.176]

Trace complete.

C:\>

Please explain the result:

First line – tells you target name (IP address) of destination- www.coconutmonky.net [64.58.76.176]. Next line tells maximum number of hops allowed by systems administrator before timed out- 30 hops. 

Each line contains indexed number in a sequence of hops, time in milliseconds that takes to get to next router, name and IP address of reached hop node or final destination.
Situation 3:  You typed in NSLOOLUP and received the following message: (10%)

C:\>nslookup

Default Server:  ns1.sprintlink.net

Address:  204.117.214.10

Please explain the result:

Nslookup is a program that queries DNS servers;

Tells you which specific DNS your machine needs to go for name registration;

Gives the name of the DNS server its IP address it goes to – ns1.sprintlink.net {204.117.214.10}

Situation 4:  You typed in NSLOOKUP RS.INTERNIC.NET and received the following message: (10%)

C:\>nslookup rs.internic.net

Server:  X.ns.verio.net

Address:  129.250.35.250

Non-authoritative answer:

Name:    rs.internic.net

Address:  198.41.0.6

C:\>

Please explain the result:

RS - stands for root server (about 13 of them exist in the world).

RS directs to name resolution server by forwarding original request of DNS server with their IP addresses. The reason it gives a non-authoritive answer for the name you are looking up is because request did not go all the way to the destination. It is simply returning the information that has stored on its memory. The original information might have changed since it was last updated.
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